J2.2 (mod 2)

blocks | defect | matrix
2.G : 1 9 38 x5
2 4 8 x 2




Block 1: | p10 $24+ @at P60 9,0
11 = x1,0 1
Io =x11 1 .
281 = X2+ . . 1
421 = X4+ 2 1 1 .
361 = Xx6,0 1
362 = Xe6,1 . . 1
631 = X7,0 3 2 1
632 = X7,1 3 2 . 1
1401 = X8+ 4 3 1 2
901 = X10,0 2 2 1 1
902 = X10,1 2 2 1 1 .
1261 = X11,0 2 1 1 1
1262 = X11,1 2 1 1 . 1
1751 = x13,0 3 2 1 1 1
1752 = X13,1 3 2 1 1 1
3781 = X14+ 6 4 3 2 2
2251 = X18,0 5 3 1 2 1
2252 = X18,1 5 3 1 2 1
3001 = X20,0 4 3 2 1 2
3002 = X20,1 4 3 2 1 2
3361 = X21,0 4 3 2 2 2
3362 = X21,1 4 3 2 2 2
121 = X224 . 1
141 = X240 2 1
149 = X241 2 1 .
1001 = X25+ 4 2 2
1121 = X27+ 4 3 2 .
841 = X31,0 1
842 = X31,1 . . . 1
2521 = X32+ 4 2 2 . 2
2161 = X34,0 4 3 2 1 1
2162 = X34,1 4 3 2 1 1
2522 = X35,0 4 3 2 2 1
2523 = X35,1 4 3 2 2 1
3363 = X36,0 4 3 2 2 2
3364 = X36,1 4 3 2 2 2
3501 = X37,0 6 4 2 2 2
3502 = X37,1 6 4 2 2 2

©1,0
P2+
Pa+
6,0
9,0

124
28,
361
84,



Block 2: | o7+ ¢10,0
1601 = X12,0 1
1602 = x12,1 1
4481 = X16+ 1 2
2881 = X19,0 1 1
2882 = X191 1 1
1281 = X290+ 1 .
4485 = X380 1 2
4483 = x38,1 1 2

P+
$10,0

1284
1604



